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For each gquestion from 1 to 25, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the comect oval (1, 2, 3 or4) on
the Optical Answer Sheet.

[50 marks]

1 Tom walks through the park and rmakes the following comments:

A: The parkis crowded with joggers.
B: | love the fragrance of the roses.
C: Bees are humming somewhere nearby.

Which senses are Tom using?
(1)  Smell and sight
{2) Touch and hearing

{3)  Sight, touch and hearing
{4)  Sight, smell and hearing

2 Which of the following things have been drouped correctly? |

Living things Non-living things Non-living things
(never alive) (once Glive)
() Caterpillar Plasti¢ spoon Pq:@e,ﬁ_}am
1T Deg Leatherbag :
(3) Duck Waollen shirt
(4) Spider Metal spoon T'ssue paper

-{Go on to the next page)



2

All the four set-ups shown below are placed in a dark room. There are two
cockroaches in each set-up. Which two cockroaches will die in the
shortest time?’ '

) @)

food
water

@) | @

food — Y B

- food —3
water —

{Go on to the next page)




Study the two groups of plants-below.

. Group A _GitupB:
Bird's Nest fern Water Lily
Bracket fungus Chilli
O(‘ aamS‘mﬁ
Whlch of the following about these two groups of—plants'are correci?
Group A ) Greup B
(A} | Repraducefionispores Reproduce font:steds
(B) | Cannot-be séen withnaked eye | Can be segnwith-igked eve
(C) | Cannot make their own food Can make their own food
(D) | Do .not produce flowers . Preduce flowers. . -
{1) AandC only
(2) AandDonly
(3) A,BandConly
4 A, CandDonly

A classification chart of animals is shown below:-

Animals

/

Give birth to young alive

Lay eggs

/N

[\

On tand Anwater On land Anwagler
w X Y zZz -
Which animals can W, X, Y and Z be?
W v _
B Joat. ant
142) | rabbit fish
{3 dog hen
1@ | horse turtle
(Go on to the next page)
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Peter has learnt that bacteria present in the air causes food fo tumn bad
and that temperature affects how fast food turns bad. He wants to carry
out an experiment to fest this ouf. -

He puts the same amount of milk in three similar containers and left them
at different places at 12 noon on a sunny day for the same length of time.

Classroom Outdoor playground A;r—cond:tiaﬁed room

Which one of the following shows the.correst order in which the milk in the
set-ups turns bad, starting from the fastest to the slowest.

(1) AB,C
(2 B,AC
- (3 B,CA
4 C/AB

{Go on to the next page)




Study the flow chart below and answer questions 7 and 8.

Yes - eagle
X
YeS/"
- No ' bat
Can it fly?
\ Yes A
‘No . ) [
- i Does it have three
body parts? . |
No [  deg
7 Which ‘ofie of the following questions does X represent?
(1) Does it eat plants?
(2) Doesithave two legs?
(3) Doesit have feathers?
(4) Does it have two wings?
8 AnimalAis a
(1) spider
{(2) silvetfish -
{3) mosquito
{4) catemillar
{Go on to the next page)
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9 Most of our clothes are made of cotton because the material

A
B:
G:
D:

()
(2
(3)
(%)

is waterproof

floats on water

is light and soft”

absorbs perspiration easily

A and C only
B and C only
C and D only
A, B,CandD

Study the chart below carefully.

Yes

Start
Yes
r
Metal? | - - Magnetic?
No
. 4
No "~ Silver
Yes
From plants? Wood
" No
y
Cotton

Copper

Which materials have been incorrectly placed in the pﬁa["t?

(1
(2)
3)
@

Copper and Silver
Gafton-and-Bopper
Cottoi and Silver
Cotton and Wood

{Go on to the next page)




41  Which part of the seedling helps it to make food?

{1) Aonly
(2) Conly
(3) BandC onily
(4 AandConly

12 _ The diagram below shows the life cycle of a plant.

Which of the following correctly répresgnts the order of its life oyele’:)

1) E—-B-C—-A—-D
{2) E—-B—-+A-D-GC
3 E-»C—-B-A-b
{4y E—-C-B>D-A

{Go on to the next page)_
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13 Adragonily and a bee are similar because they both

(A
(B)
(©)
D)

(1)
)
(3)
4

have a three-stage life cycle '
have three body segments

have six legs

live in water”

A and C enly
B and C only

A, B and C only
B, C and D only

14  Studythe flow chart below.

" | 3-stage life cycle

No .
O

Yes

v

The young and aduit look alike | ~ Ne

Yes

What could A, B and C be?

. A
] Houselly
) Mesquito
{3)_1 _Cockigach
{4) Butterfly

(Go on to the next page) .
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Refer io the diagram and answer questions 15 and 16.

Life cycle of a butterfly Life cycle of a mosquito

Which of the following statements about the life cycle of a bufterfty and a
mosquito are triue"-?

A The butterﬂy and mosquito both have a 4-stage tife gycle.

B: The aduit butteﬁly lays one egg at a time while 1he adult mosguito
lays many eggs ata time. \

C: Both the catezplllar and the wnggler meult several imes before
changmg into apupa.”

D: At the pupal stage, both the caterpillar and wriggler stop feeding.

{1 A, Band C
(2) A,BandD
3 ACandD
4) A,B,CandD

Which of the following animals has the same life cycle as the butterfly and
mosguite?

(13 Frog

2) Moth

(3 Disaonfly.
{4 Cﬂekmach

v
(Go on to the next pagéb
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i0

Start

Lays egg?-

Y

Yes

Y

Livesin
water?

No

Yes

v

What can animals A, B and C be?

A

)

Turlle

(2)

{3)..

Goldfish
s

fi‘nﬂe

4

Platy - hs

Goli ﬁsh

. {Goontothe next,pa_ge)
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19

11 0

Look at the picture of the magnet below.

C

Which parifs of the magnet will attract the most paper clips?

(1) AandB
() DandE
(3 BandD
(4 AandE

Which compass indicates the direction that a freely-turing magnet will
come to rest? .

4 2)

3) @

iel

(Go on to the next page) -
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9

12

In the experiment set-up-below, the rod will be able to attract paper clips if
it is made of

(4)

—_ ] F

NNNNNANNN

Aluminium
fron.
Steel

- AorB bnly

A or C only
B or C only
A,BorC

.f_-'////////////)

VVVVVVVUV

(Go on to the next page)
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22

13

Q

Sam was able to place Object X below a magnet without the Object X
dropping-as shown in Diagram A.

Diagram A

Object S —

O «+— Object X

Je—— Magnet —————¥

Diagram B

When a thin sheet of Object S was placed between Object X and the -
magnet as shown in Diagram B, Object X dropped What could Object S

and Object)( be made of?
Object S ObjectX
(1) iron Plastic
{2) Plastic Silver
3 Sitver Stéel
{4) Steel fron
ol

¢!
Ali, Bill-€andy:and Dave were puzzied why their magnet was no longer
able to attract any paper clip. Each of them made-a guess.

Ali:
Bill

- Someone must have hit it many times with a hammer.
- Someone heated it over a strong flame.

Caieb : Somecne has stored it in oil for tec long.

Dave :Someone must have dropped it on thefleor.

Whose statements are correct?

M
(2)
3
{4)

Alt and Bill

Ali, Bill and Caleb

Ali, Bifl and Dave

Ali, Bill, Caleb and Dave

\£2
{Goonto the next page)
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23 Look-at the following arrangements shown in set-ups'A, B, C and D.

Which arrangements will cause the three magnets to push each other-
away?

{1} AandBonly
(2) BandConly
{3) AandConly
(4) CandD only

(Go on to the next page)
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24 A rod is magnetized by two magnets as shown in the diagram below.

Rod

What would be the poles at A and B?

C B
¢y | North
2) Souith
3y | - Sotth
' Noith

WY
"+ (Go on to the next page)
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Tim conducied an experiment using two bar magnets, a piece of glass
sheet and a steel sheet of the same thickness and some iron filings.

First, he placed the glass sheet ever one magnet and the steel sheet-over
the other and dusted somie iron filings over each of them. The diagrams X
and Y show her observations.

LT

Steel sheet Giass sheet

N - Sle—— Magnets ——N s

Diagram X o _Diégi'amY

&

Which of the following statements about-l\;)er»obsérvaﬁuns are true?

(A)
(B)
(C)
D)

(1)
2
{3)
4

Iron filings are attracted to glass but not to steel.

The force of a magnet can pass through glass but not steel.
The force of a magnet can pass through steel but not glass.
Steel is a magnétic material while the glass is a non-magnetic
material.

D only
BandDonly_
C and D only
A, B and D only

End of Booklet A ——
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For questions 26 to 39, write your answers in the spaces-provided.
The number of marks available is shown in brackets [ ] at the end of each

question or part question. [40 marks]
26 Look at the classification diagram below.
_ Things
Group A . . GroupB
-Wét'er cat
television de}phin _
(a) Where should ‘rock’ be placed? i1
(b) Give a reason for your answer in (a) [1
27 The picture beiow shows a duck.
(a) Name the body covering of the duck §3 ]
) Namelwcucions.of the body covering:given in () I

o]

Go on to the next page)
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Living things

¥

Does it make its own Yes Does it reproduce Yes —.
food? —_— by seeds? — P
1 Vd
N s
° No l
™~
A 4

- - _ Yes o ( Q )
Does it feed o other _ ( R AN
dead or decaying -

mattey? .

No

r .

Does it feed on a-nirﬁ-a_ls and ____+< S
plants? .

Give an example of P, Q, R and S. {4]

P:

Q
R:
S

(Go on to the next page)
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30

(@

(b)

t©

Set-up | Type of soil : Tempe,ratute Air | Sunlight
{ (seed) ﬂ_ﬁ@... ‘
A Clay N | Mo
B Gatden ¥es. | Yes
c Gakden Yes | Yes
b Clay Yes Mo

L

The diagram betow shows a fruit cut in half.

(a) Name the part marked X. 1
{b)  Whyis X important? i1
(c)  How do plants without X reproduce? : _ i1]

Alex conducted an experiment using 4-seeds, A; B, Cand:D, tofind out’
which factors would affect the géiination efseeds “Slady: thie table given.

Which 2 set-ups should he use if he wants to find out whether temperature

is an important factor in the germinatien of seéds? 1]
Which seed is most likely to germinate? i1
Explain your ahiswer in (b). 1M

L S E;i
{Go on to the next page) /



31 . Based on.thelife cycle of a frog and a chicken as shown in the pictures
‘above, list 1 similarity and 1 differeice between them. [2}

Similarity:

Difference:

{Go on to the next page) :




32 Study the classification diagram given below.

Materials
A B
leatier watiet plasiic clip
sitk skirt fiyleivcléth
efaser : styrofeam box
{a) What headings would you give for A and B? 21
A
B:.
{b)  inwhich group, A or B, would you place a giass cup? ' 1]
(c)  Explain your answer in {b). {ﬁ

M
(Go on to the next page)
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Study the table below.

Type of Light Strong Bends easily . { Good

material .o "conductor of
- heat

A Yes No ' Yes No

B o Yes No | Yes

[ No Yeés No No

(&  What are the characteristics of A?

(1]

(b}  What material should Mrs-Lee use to make a pot for coeking? [1}

(©) Give two reasons for your answer in part (b).

i

(d) Inwhatways are materials B and C similar?

11

(Go on to the next page)




34  The graph below shows the maxiimum number of bricks that four bags
made of different materials could hold before breaking.

Number of bricks

Bag A BagB BagC Bag D

Arrange the bags according {6 their strength, from the strongest te the .
weakest. ‘ ' 1

Strongest YWeakest

: LS . :
| A
(Go on to the next page)



35  Complete the classification table with .

(a) the cerrect heading {type of material) . 7 i2]

(b) the.paris that are labelled. (B,C,E,F,G,H, 1 and.J).in the diagram
under their respective headings in the classification table. |
Example D and A are given. [4}

(a)

(b} D

(Go on to the next page) -~




36  Ben placed two bars, Bar A and Bar B, that are of the same length and

size on a wooden table. Then, he held .a magnet under the table as showr
below.

BarA BarB

| -
=i

As he moved the magnet to the left, he obsetved thai Bar B stayed where

it was without ineving white Bar A moved to the left with the magnet. He
repeated the experiment and the result was the same.

Why do you think Bar A and Bar B reacted differently to the magnet? {2]

37 Noah wants fo retrie\}e sorhe iro

Wdss container shown

below.
Glass container ——— )
© Magpet R e — o
E: S : I Iton asils
(@)  Will Noah succeed in getting the nails?(Why? &

) Whatmateriakmustiiie containen be made of to prevent imifrom™
retigvingthenails lising a magnet? {1

i

{Go on to the next page)
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38 Three similar bar magnets, X, Y and Z, are hung on a metal rod. The
diagranibelow stiowswhat Fappetied to the magriets. The letters A, B, C,

Fad

D,-E and FrepréSent the poles of the 3 magnets.

(a) IfAis the s6uth-pole of Magnet X, what are peles E and F? 3

i) E:

() B

(b)  Whathappens to Magnet X and-Magnet Z when Magnet Y is replaced by
a piece of steel rod? Why_? 2y

(Go on to the next page)
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11 .

Joanne made an iron nail into an eleciromagnet, using a piece of wire and
two batieries as shown in diagram 1. She then used the electromagnet to
attract paper clips.

She repeated the experiment several times, changing the number of turns
of the wire. The fesult is shown in the graph below.

Diagram 1

Number of

paper clips -
altracted

Y

5 10, 15 20

Number of turns of wire

(a) " From the graph above, what is the relationship between the number
of tums and the number of paper clips? 1

(b)  Besides increasing the number of turns of the wire, what else can
Joahie-do-fo increase the number of papef clips aftracted to the
eléetromagnet? : 1

£nd of paper -——

Lb‘l
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26)a)Group A.

b)Rock is a non-living thing. Water and television are non-living things.
27)a)Feathers.

b)It is light so it will help it fly.
28)P: Ixora Q: bird-nest-fern R: bracket fungi S: dog
29)a)Seed.

b)It will ensure the continuity of its kind.

c)By spores.

30)a)Setup B and C.

b)Set up B. .

©)It needs correct amount of water, temperature Air and B is given all the
conditions.

31)Similarity: Have three stage in their life cycle.
Difference: The frog live in water and land but the chicken lives only on

land.

Page 1to2 . ‘;P?Q-e,l
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Answer Key


32)a)A: once alive.
B: never alive.
b)In B. ) ,
2 C)A glass cup is a man-made materials. All the objects in group B are
man-made but object in group A are not. So the glass cup should be placed in
group b. :

33)a)ltis light and bends easily.
b)Material B. -
C)A frying pan suppose to be strong, and a good conductor of heat.
d)They are both strong and not light does not bend easily.

34)BP A C

35)a)Metal
b)D B G J A
I HF E
C

36)Bar A is a -non-magnétic material. Bar A is either a magnetic material or a
magnet as it is attracted to the magnet.

37)a)Yes. Because the glass container is a non-magnetic material.
b)Iron.

38)a)i)South pole
ii)North pole
b)Magnet X and magnet Z will more towards the steel rod.
Steel is a magnetic material and is attracted to the magnets.

39)a)The more number of turns, the more paper clip it will attract.
b)Add more batteries.
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